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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Which of the pieces of information given in
the options is additionally required to answer

bl

the following question?

Question:

All the students in a class passed the exam
and each one got a unique rank. Sushma
secured 7th rank and has 4 boys ahead of
her and 9 girls behind her. What is the total
count of students in the class?

(A) Sushma has 2 girls ahead of her

(B) The ratio of the count of girls to that of
boysis2:3

(C) The number of boys is more than the
number of girls in the class

(D) The topper of the class is a girl

Choose the odd one out.
(A) USB
(B) PCU
(C) DAD
(D) RTO

Choose the odd one out.
(A) Earthquakes

(B) Volcanoes

(C) Tsunami

(D) Global warming

Find the missing term in the following series.
8,24, 48, 80,7 ,168

(A) 148

(B) 112

(C) 134
(D) 120
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Freifeiftaa 3 9 aming @1 997 difog
(A) USB
(B) PCU
(C) DAD
(D) RTO
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(B) ETeTHE!
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8,24, 48, 80, 7,168

(A) 148
(B) 112
(C) 134
(D) 120
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Study the following pie chart showing
expenditure distribution of a certain family
and answer the question that follows.

Q5

fr=fafaa o o, o @ @ Faa
gftar & =g faawo & weflia v &,

ST eaga o 3w v T wwm @
I © |

If the expenditure budget of the family is
¥ 18,000 per month, then the monthly
expenses on entertainment, clothing and
transport combined will be.

(A) T 1,800

(B) 3,200

(C) T 5,400

(D) T2,800

Nikhil, who is Raman’s son, says to Esha,
“Your mother, Ria, is the younger sister of
my father, who is the second child of Suresh.”

How is Suresh related to Esha?

(A) Father

(B) Uncle

(C) Brother
(D) Grandfather

LM-E
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Given below are three statements followed
by two conclusions. Identify which
conclusion(s) definitely follow(s) from the
given statements disregarding the commonly
known facts,

Statements:

. Allcomputers are laptops.

II.  Alllaptops are smartphones.
IIl. Some smartphones are tablets,

Conclusions:
. Some tablets are computers.
Il. Somesmartphones are computers.

(A) Onlyconclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions ] and [T follow.
(D) WNeither conclusion I nor II follows.
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Which option follows figure C in the same

way as figure B follows figure A?

oo [ ?
(Al 1.1 ]
(A) :
T12
P
614
(C) :
217
o .

Find the odd one out of the below list of

colours.

Orange, Violet, Brown, Red, Green, Indigo,
Yellow

(A) Orange
(B) Brown
(C) Green
(D) Indigo
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Read the following terms and decide which
one does NOT fit in that group.

Average, Range, Mean, Variance, Standard
Deviation, Mode, Refraction

(A) Mean
(B) Variance
(C) Mode
(D) Refraction

Study the below statements and choose the
correct Venn Diagram depicting the
information in the statements.

1. Some boys can sing
2. Some boys can dance
3. Some boys can sing and dance

Sing Dance

Boys

(B)

()

(D)

YOG
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A cube is painted yellow on all its surfaces.
Later, the cube is cut into 64 smaller cubes
of equal size. How many of these smaller
cubes will NOT have yellow colour on any
of its surfaces?

(A) 4

(B) 8

(C) 12

(D) 16

Sonam and Sheetal leave the same office and
travel towards their homes. Sonam travels
towards north for 12 km, tums right and goes
another 5 km to reach her home. Sheetal
travels towards south for 12 km, but turns
left and goes another 15 km to reach her
home. What is the shortest distance between
their homes?

(A) 13km

(B) 17km

(C) 26km

(D) 34km

36081856
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(A) 4

B) 8

(C) 12

(D) 16
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(A) 13km

(B) 17km

(C) 26km

(D) 34km
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Below is a statement followed by two
conclusions. Read them carefully and decide
which conclusion(s) logically follow(s) the

statement given.

Statement:

The quality of teachers has deteriorated in
the government schools and parents prefer
to enrol their children in private schools.

Conclusion:

I)  Theauthorities must take immediate
action to step up the quality of teachers
in schools.

ll)  All government schools must be either

privatised or closed down completely.

(A) Onlyconclusion | follows.
(B) Only conclusion Il follows.
(C) Eitherconclusion | or Il follows.

(D) Neither conclusion I nor Il follows.
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Choose an option that is a valid assumption
for the below statement

Statement:

Due to the concerns of pollution, the Delhi
govemnment had completely banned the use
of crackers in the last Diwali festival.

(A) The bursting of crackers is considered
to be inauspicious during Diwali
festival.

(B) Citizens love to celebrate Diwali only

with lantemns and not crackers.

Children love to watch movies and play

video games instead of bursting

crackers.

The bursting of crackers further

increases the smoke and hence pollution

levels in the city.

(C)

(D)

Below is a statement and two courses of
action given. Read the statement and decide
which course(s) of action need(s) to be
followed with regard to the statement given.

Statement:
There has been an increase in the number of

burglary cases last year compared to previous
years.

Courses of Action:

I.  The police department must step up its
vigil with more policemen on night duty.

[I. The residents must be advised to be
extra cautious with strangers and
deploy security guards and night
watchmen.

(A)
(B)
(©)

Only Action | needs to be followed
Only Action [l needs to be followed
Both Actions | and Il need to be
followed

Neither Action | nor Action Il needs to
be followed

(D)
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Select the option that is related to the third
term in the same way as second term is
related to the first term.

Fumiture : Plywood :: Flooring : ?
(A) Walls

(H) Tiles

(C) Maitress

(D) Slippers

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Cricket : Umpire :: Football : 7
(A} Commander

(B) Whistle Blower

(C) Referee

(D) Arbiter

In a certain coded language, if “WAITER is
written as ‘XQCCLQ’ and "ARTIST' is
written as ‘BSTQWF', then how would the
word ‘BEGGAR" be written in that
language?

(A) COEXID

(B) CQGYJID

(C) CSGCL)

(D) CQFZHF

Inacertain coded language, if*SUMMER’
is written as ‘S2IMI3E|18' and ‘WINTER'
15 written as *“WIN20E| 8", then how would
the word ‘AUTUMN? be written in that
language?

(A) A2IT2INI3

(B) A20U21M14

(C) A2I1T2IMI4

(D) A2IU20NI13

£S5 L DriE
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I Qe &1 g9 Fifoe o d o=
# 8w 3 ove @ wala & e v ¥
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(A) dTeH

(B) ergen

(C) fgw

(D) Rea

99 fee &1 g7 Ffew o e e
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fihaie : SR & Bedrd : ?
(A) T

(B) W@fd® (Whistle Blower)
(C) YIwd

(D) anfdex

e Aftea e am i af WAITER® &)
'XQCCLQ" féran oirem & 3fR ‘ARTIST"
@1 ‘BSTQWF' foran o &, o o¥ @
w191 A ‘BEGGAR’® &1 =11 foran aman?
(A) COEXJD

(B) CQGYID

(C) CSGCl)

(D) CQFZHF

U (e se W A, af ‘SUMMER'
@ ‘S2IMIZEIS fermr wiem & afw
‘WINTER' @1 “WON20E18" feran amen
&, o 99 T W CAUTUMN' @1 a1
feran ampm?

(A) A21T2INI3

(B) A20U21M14

(C) A21T2I1MI14

(D) A21U20N13
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Pointing at a portrait on the wall, Madan said,
“That lady was the mother of the daughter of
the son-in-law of the father-in-law of the
mother of my son.” How is Madan related
to that lady in the portrait?

(A) Father

(B) Son

(C) Brother

(D) Father-in-law

Given below are four statements followed by
four conclusions. ldentify which
conclusion(s) definitely follow(s) from the
given four statements disregarding the
commonly known facts.

Statements:

1. Allboyscan play

2. Some girls can sing
3. Allgirls can cook

4. Noboy can sew

Conclusions:

I) Nogirlcanplay

i) Allgirlscansew

lll) Some cook are girls

IV) Boys who can play cannot sew

(A) Onlyconclusion Il follows.

(B) Only conclusions I11 and IV follow.
(C) Only conclusions Il and 11 follow.
(D) Only conclusions Fand IV follow.
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Study the below series and identify what
would come in the place of *7".

7,13,21,31,43,57, 73,7
(A) 89
B) 91
(C) 93
(D) 97

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

Rajan is shorter than Ramesh, who is taller
than George. Who is the shortest amongst
them?

(A) Ramesh isthe tallest person
(B) George is shorter than Ramesh
(C) George is taller than Rajan

(D) Ramesh is taller than Rajan

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

The ages of three friends, A, Band C, are in
theratioof 5 : 4 : 3. What is the age of the
cldest person?

(A) AiseldertobothBandC

(B) Theage of A is a perfect multiple of 5

(C) B wasS5 years old when C was born

(D) The age difference betweenAandB is
the same as the age difference between
BandC

38530153
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7,13,21,31,43,57,73,?
(A) 89
(B) 91
(C) 93
(D) 97
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Who is the Director of Tata Institute of

Fundamental Research (TIFR), a premier
research mstitute of India located in Mumbai,
as of March 20197

(A) KN Vyas

(B) Shalini Bhatt

(C) Rakesh Bhatnagar

(D) SandipP Trivedi

The new year for both Andhra Pradesh and

Maharashtra starts in the Hindu month of

Chaitra. In Andhra, it is referred 1o as Ugadi.
How is it referred to as in Maharashtra?
(A) Lawni

(B) Baisakhi

(C) GudiPadwa

(D) BhauBeej

Pandit Madan Mohan Malviya’s grandson,

Justice Girdhar Malviya, has recently been

appointed as the Chancellor of which

famous university/imstitution?

(A) Sharda University

(B) Banaras Hindu University

(C) Mahatma Jyotiba Phule Rohilkhand
University

-

(D) Chhatrapati Shahu Ji Maharaj
University

530153
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The Guru Angad Dev Veterinary and Animal
Sciences University is located in which city
of Punjab?

(A) Patiala

(B) Ludhiana

(C) Amiritsar

(D) Chandigarh

The form of farming in which nearly all of the
crops or livestock raised are used to sustain
the farmer and his family is traditionally known
by which name?

(A) Subsistence Farming

(B) Minimalism Farming

(C) Quota Farming

() Institutional Farming

Which of these is NOT an edible plantation
crop?

{A) Cocoa

(B) Arecanut

(C) Rubber

(D) Tea

15
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Q31
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Q33

Q34

LM-E

In the computer terminology, what is the full
form of PDF?

(A) Printable Document Format

(B) Print Dispatched File

(C) Protocol Disk File

(D) Portable Document Format

In which city of Uttar Pradesh would you
find the following majestic Ghats: Assi Ghat,
Manikamika Ghat and Harishchandra Ghat?
(A) Kanpur

(B) Varanasi

(C) Prayagraj

(D) Ghazipur

The famous lron Pillar of Delhi, which has
withstood centuries of exposure to nature
without any rusting, is housed within which
of these historic complexes?

(A) JamaMasjid Complex

(B) Red Fort Complex

(C) QutbMinar Complex

(D) Humayun's Tomb Complex

Q32

Q33

Q34

HYex FEEd H, PDF &1 Qo &9 &1
&7

(A) Ticaw Stagic wife

B) fie fewtes wgd

(C) wiewia faw wEa

(D) Ddaw Stagie wife

IR e & e e i anue Frefoiaa
ue 3R sRwEe ae?

(A) I

(B) o

(C) WITITS

(D) TTSIgR

feeelt & g e wm o wfRdl |
far s &t @en &, a8 FPrefafaa 9 @
faw Cfoefe ofvew 4 Raa 87

(A) i Aivere o

(B) e f&en aRew

(C) ga MR afer

(D) B9 & WAy &1 iy
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Q35

Q36

Q37

The Ukai Dam is in which state of India? It

is the second largest dam of that state.
(A) Gujarat

(B) Telangana

(C) Odisha

(D) Maharashtra

‘Bahujana-hitiya bahujana-sukhéya is the
Sanskrit-based motto of which of these
(A) Doordarshan

(B) Banaras Hindu University

(C) AllindiaRadio

(D) Indian Meteorological Department

For helping farmers discover a better pricing
for their coffee, the Coffee Board has come
up with which of these innovative
marketplace apps?

(A) Coffee Blockchain

(B) CoffeeCloud

(C) Coffee Connect

(D) Coffee Choupal

Q35

Q36

Q37

IFTE am wwa @ Frefafea 4 @ faa
T ¥ 27 U8 99 U & qHY Had
T A ¥
(A) o
(B) e
(C) anfeem
(D) =TS

g R age-ga ettt
i 9@ fvm vfm W @ W
amenfe smeY-—areg 27

(A) Teed

(B) W fig Rvafgaem

(C) sifer gfEan ear

(D) e wrem Rsm fwm

Rl B IR P B vy Asew g
frafeor % meg 9 @ fog, I a9 3
=i 3 9 fea @9 we @ Uy
N T N 8?
(A) i wiiwas
(B) W TS
(C) BT Tae
(D) i e
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Q38

Q39

Q40

Name the state that has launched a
commission called PRANAM Commission
to specifically look into the responsibility of
elderly parents of government employees.
(A) Assam

(B) Odisha

(C) TamilNadu

(D) Rajasthan

Where is the head office of the Tea Board
of India?

(A) Darjeeling

(B) New Delhi

(C) Kolkata

(D) Kochi

When you open a new Excel workbook,
how many worksheets is/are present by
default at the time of opening?

(A) One

(B) Three

(C) Five

(D) Seven
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Q38

Q39

Q40

Frefafa fa wou 4 fadw wa 9 vl
Gl & ga - # e
W &F &1 @ fay PRANAM 3
TS TP AT A e 1 87

(A) 3rEH
(B) anfsem
(C) g

(D) oI

& a2 3 W w1 yE FEiea HE
o feem 27

(A) =fffeT

B) 7 fawh

(C) Bre®m

(D) Bifea

T4 A9 UF 7% Excel 30q® @ied € o
deH @ v i wu A o aadie
B &
(A) &
(B) &=
(C) W=
(D) W
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Q41

Q42

Q43

Photoshop is a software program that is
extensively used for image editing, graphic
design and digital art. The company that has
the selling rights of this software is:

(A) Microsoft Corporation

(B) AppleInc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems is a wholly owned
subsidiary of which of these Indian IT
companies?

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

Which of these countries shares an
international border with the state of Uttar
Pradesh?

(A) China

(B) Nepal

(C) Bhutan

(D) Bangladesh

LM-E

Q41

B0 LEE

Q42

Q43

Photoshop U& (w1 wfueaay g &
Rraer soam giw ofsfew, aifve
feamza v fefea od @ fog =2
U ae fvar sen # | Freferfa 4 9§
&9 wul & e g9 HigedR &1 49w
&1 JAWHR 27

(A) Microsoft Corporation

(B) AppleInc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems fr=ifafRan frm
ARAg 1T SOt & qf w@ifieg gl
Hes HuAl &7

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

Fefoftaa 3 & &9 w1 9 Iar wew
U & AN U SRSy G s
B 87
(A) B
(B) el

(C) e
(D) AR
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Q44

Q45

Q46

LM-E

Which among these districts of Uttar Pradesh
is completely surrounded by other districts
of Uttar Pradesh (i.e., does NOT share a
boundary with any other adjacent state or
country)?

(A) Saharanpur

(B) Deoria

(C) Hardoi

(D) Lalitpur

Veteran superstar Amitabh Bachchan hails
from which city of Uttar Pradesh?

(A) Prayagraj (Allahabad)

(B) Kanpur

(C) Meerut

(D) Agra

The famous Bankey Bihari Temple is located
in which town of Uttar Pradesh?

(A) Samath

(B) Varanasi

(C) Vrindavan

©) Agra
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Q44

Q45

Q46

TR wew @ Feafofea 4 | 919 W
forem 5w won & o forat & fowr gan
& (arh, e o o wow @ <w @ WY
A1 /IS A9 e §) 7

(A) HERAYY

(B) =afar

(C) &%=

(D) wferg

FP YU AFHEH Feae I He
@ e ma®
(A) VORI (FoTRER)

B) TR
(C) o

(D) 3mmr

ufhig T fErd iy oo R @ 5
weY ¥ e 27

(A) W

(B) FIeTEY

(C) gerad
©) I
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Q47

Q48

Q49

LM-E

Which of these is the state animal of Uttar
Pradesh?

(A) Red Panda

(B) Swamp Deer

(C) Indian Bison

(D) Water Buffalo

The city of Saharanpur of Uttar Pradesh is i Q48

globally famous for which of these artsand
crafts?

(A) Banglemaking

(B) Perfumesand Scents

(C) Wood carving

(D) Carpetmaking

In which town of Uttar Pradesh would you Q49

find the Central Avian Research Institute
(CARI)?

(A) Agra

(B) Bareilly

(C) Lucknow

(D) Kanpur
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Q47 Frfefea # | <9 @ 9w wdwr &

TG gy 87

(A) @S 97=T (Red Panda)

(B) aRERIT (Swamp Deer)

(C) WA el R (Indian Bison)
(D) GiTelt e (Water Buffalo)

I UAY & HERAYY weY el
fFa war v A @ fon Rwe—wfig
7

(A) gt g

(B) ¥ 3k g

(C) E&8 W Tawre

(D) ST =T

@1 ol I € (CARI) 9@
wew @ frm e i fem &2

(A) s

(B) ¥

(C) TaT%

D) IR
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Q50

Q51

Q52

The state of Awadh (also called Oudh) was
ruled by Muslim rulers from 1722 to 1856.
What was the title that the rulers adopted
while ruling Awadh?

(A) Sultan

(B) Badshah

(C) Nawab

(D) Sahib

The famous Alai Darwaza, built by Alauddin
Khilji, is located at:

(A) Agra

(B) New Delhi

(C) Awadh

(D) Warangal

The historic town of Srirangapatna, home to
the tombs of Tipu Sultan and his father Hyder
Ali, is about 15 km from which of these

cities? g
(A) Bengaluru %
(B) Mangalury
(C) Mysuru
(D) Belgaum
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Q50

Q51

Q52

e wrsyg (R after A wer oen @) w
1722 % 1856 T HRem et &1 9
AT | IJOY R O FW G IS A
Frefoftad 3 & a9 ¥ sufy agad o

(A) g
(B) aeenE

(C) Aam
(D) wif2q

rerran faerol gamr a9 T ufhg
elid EXaTan Het o8 few &2

(A) SR

(B) 7% faweh

(C) 3@y

(D) T

s @ Waelie wev R &y
Ui 3R 9w fiar gaw arelt 3 &l
& B AT G 8, a8 Frefafaa
IER A T 15 km B g8 W Rerg 27
(A) FTge
®) e

(C) R
)R GRIL

SERIES-E-G




Q33

Q54

Q55

Which of these organisations was founded
by weteran freedom fighter, writer and
educationist KM Munshi?

(A) Theosophical Society

(B) Bharativa Vidya Bhavan

(C) Indian Statistical Institute

(D) Indian School of Mines

The world would specifically associate the
word ‘holocaust’ with which of these
countries?

(A) Germany

(B) Egypt

(C) China

(D) Mexico

During the Mughal administration, what was
the exact role of a ‘Kotwal’?

(A) Leading the army for battle

(B) Maintaining the treasury

(C) Collecting revenue

(D) Maintaining law and order

LM-E

RS leli i
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Q53 IFHE! T VAT, o 3R Rewfag

Q54

Q55

B, 5 3 Pt %/ fa w1ed
B WG B 47

(A) Eftfrea daEd

(B) #ey fagar waw

(C) e wiRerah e

(D) ¥FeFT v 3w W

o faew Be@ve’ e B e W
frfafan a3 & W Sirser S
2?7

(A)

®)

(C) 9™

(D) Wi

PId WA $ ENF, UF Hiaa o
el i @ o7

(A) Tg & fore I @1 g BN
(B) TSTHIY I GG G

(C) wraTea Ui He

(D) & 3R Zaw §91Y 7@
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Q56

Q57

Q58

LM-E

The Child Marriage Restraint Act, 1929, is
popularly known by which other name?

(A) SardaAct

(B) Vijayalakshmi PunditAct

(C) NaiduAct

(D) Nanavati Act

In which :ilt;-r did Swami Dayananda
Saraswati first establish the Arya Samaj in
the year 18757

(A) Bombay (now Mumbai)

(B) Ahmedabad

(C) Pune

(D) Calcutta (now Kolkata)

Megasthenes, the author of the famed treatise
about India called Indica, originally belonged
towhich country?

(A) Portugal

(B) Greece

(C) Egypt

(D) Turkey
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Q56

Q57

Q58

e faae s sfRfrem, 1929 #
Frefaftaa forw ama s 9 of s smar
27

(A) TIReT g

B) faaash dfea affrm

(©) =g sffaw

(D) AFTEeT siffrm

i e e ¥ R T A v
AR 1875 % il oy ) W @ off?
(A) 9 (3@ Hag)

(B) 3EHeETs

© T

(D) TP (3@ Brerpran)

R, e ARG @ A ¥ ufhg
oy gfew foreh B, 98 9@ w7 @ fvw 3w
@ o

(A) FETT

®) T

(C) fra

©) T
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Q59  Inwhich town of Uttar Pradesh would you

Q60
Q61

LM-E

find the 14® century mosque called as the
Atala Masjid (or Atala Mosque)?

(A) Ayyubganj

(B) Haidergarh

(C) Jaunpur

(D) Fatehpur

The Greenwich Mean Time (GMT) marks
the starting of time zones in the globe, and
the time in any country is a measure of number
of hours that country’s time is ahead or
behind GMT. This town of Greenwich is
located near;

(A) London

(B) Amsterdam

(C) Chicago

(D) New York

The Cholanaikkans, Kurumbas,
Kattunaikans, Kadars and Koragas are
primitive tribal groups of which part of India?
(A) Andhra Pradesh

(B) Andaman and Nicobar Islands

(C) Kerala

(D) Odisha

JETER404
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Q59 1441 vl 9 wftig witerg Rt aeren

Q60

Q61

ARSTE (A1 Atala Mosque) F8T Wi &,
SEN Weu & 5y wmw ¥ fem 22
(A) @S

(B) 8=vTE

(€) g

(D) WIEgR

Mfda d e (GMT) &g W ey
i B Yo B vl B, s R o
29 & W GMT @ i o1 618 29 @
HEY B WA B A B v & | Fefm
Frefafaa % o fr wev @ uw Rem
27

(A) wga

B) T

(C) fri

(D) i

DR A B AT @ snfew seondig
HHE &7

(A) 3tier weer

(B) diwr 3 R gd

(C) ana

(D) nfEmm

SERIES-E-G




Q62

Q63

Q64

LM-E

Hero Cycles is one of the largest cycle
manufacturers in the world. In which city did
they first set up shop way back in 19567
(A) Ludhiana, Punjab

(B) Chennai, Tamil Nadu

(C) Sonipat, Haryana

(D) Kolkata, West Bengal

In'which city of the world would you find the Q63

Trafalgar Square?
(A) Beijing

(B) London

(C) New York

(D) Paris

The *Writer’s Building’ is the secretariat
building of which state government of India?
(A) Telangana Government

(B) Karnataka Government

(C) West Bengal Government

(D) Gujarat Govemment

Q62 B wigfe gfrn & waw 98 wEfhd

ffarait # @ U@ ®1 1956 § SEH
yeeh ar fra weY d sl gEE @
TITOAT & &7

(A) T, dome

(B) =4, afferrg

(C) ¥, sRarn

(D) e, 9fEEs g

FTHerR R favg @ fFw wew 9
fRerr #7
(A) fs
(B) ==
(C) =gt
D) Rw

wrged T wNa 3w U WeR
&1 Witareg waq 87

(A) TETAT TP

(B) Ffed WaR

(C) uf¥=m st AvER

(D) W HYHR
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Q65 Thecity of Vijayawada in Andhra Pradesh
is located on the banks of which river?
(A) Cauvery
(B) Godavari
(C) Mahanadi
() Krishna

Q66 What is the capital of Azerbaijan, a country
that was once a part of the Soviet Union
(USSR)?

(A) Ulaanbaatar
(B) Kiev

(C) Baku

(D) Tashkent

Q67 Which of these four awards is presented by
the King of Norway and is often referred to
as the Nobel Prize of Mathematics?

(A) Fields Medal
(B) Abel Prize
(C) Wolf Prize
(D) Chern Medal

LM-E
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Q65

Q67

¥ W2W &1 Riorrarer wew 5w wd @
fam R 82

(A) ®rEd

(B) amd

(C) weTE)

(D) o

HORATE W 0 WiRaa W (USSR)
& UF B o, Peafafa 4 3 e @
THE o 22

(A) SEFEAR

(B) @1a

(C) @,

(D) g

Freffe geeant ¥ @ @ a1 qwan
A & I qanT v R T @ alw
IR § A BT A IR B
oI 87

(A) iegw Aee

(B) vaw ugw

(C) Io% wrgw
(D) o ==
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Q68

Q69

Q70

What is the official term of the office of a
Governor of a state in India?

(A) 3 years

(B) 4years

(C) 5years

(D) 6years

What is the colour of the Ashoka Chakra in
the Indian tricolour (Tiranga) flag?

(A) Purple

(B) Magenta

(C) NavyBlue

(D) Black

Which fruit was adopted in 1950 as the
‘national fruit’ of India?

(A) Apple

(B) Mango

(C) Grapes
(D) Banana

38928404

28

Q68 WRa & frell woa & U & IS &

sfeRe sde o RE &1 g
8?

(A) 394

®) 4ad

(C) 5a4

(D) 67§

e fo (fm) e 3 3 =@ &
a1 P A E?

(A) &R

(B) #oiet

(C) e el

(D) ®re

Q70 af 1950, fFr=feriaa § @ fra wet @

HRA & UG ' D WY F JGFR—1 T
ar?

(A) %@

(B) M

(C) 3R
(D) @
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Q71

Q72

LM-E

India’s Accord Group and Oman’s Ministry
of Oil and Gas have signed a $3.85 billion
deal to build an oil refinery in which of these
countries?

(A) Afghanistan

(B) Bhutan

(C) SriLanka

(D) Nepal

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) Khurja Dolls

FOFED6OT

29

Q71

Q72

ARG & qPIE qU 3N e & I 3l
i Ao A Prefaifae # @ fv 2w 3
Tl RegT8 77 @ forg §3.85 Riferr
& s I swamEw fae 87

(A) swfeT

(B) ™

(C) siredar

(D) et

TR B (S R woqaet sen o
it R & ww @ F Wi w@aa
(GI) 2 wiren 81 g% e Frafefen
| - m | el ey #2

(A) T=T9eT fEar

(B) ®ierveet TfEar

(C) woyaeh Tfar

(©) it 7fan
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Q73

Q74

Q75

LM-E

Lakshmi Vilas Bank (LVB), a 93-year-old
bank from Tamil Nadu, merged with a
ﬁnwmiaientityfrmn Mumbai. Name the entity.
(A) HDFC Bank

(B) Indiabulls Housing Finance

(C) DewanHousing

(D) Reliance Home Finance

Mame the country that conferred its highest
civil award, the Zayed Medal, on Indian
Prime Minister Narendra Modi in April 2019.
(A) Iran

(B) Afghanistan

(C) United Arab Emirates

(D) Malaysia

Vidarbha won the 2018-19 Ranji Trophy
tournament. Which team did it defeat in the
finals at Nagpur in February 20197

(A) TamilNadu

(B) Saurashtra

(C) Mumbai

(D) Kamataka
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Q73 ol fdema d& (LVB), dfferrg &l

93 qifg e, Hag & vF faia sag @
T faera g3 8 | 39 g 1 AW @l
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(A) TESIUEH d

(B) gfeurges SR wig

(©) dram grsfi

(D) Reima 8 siEd

a8 @ W 9w & faee aia 2019 9,
R YA R WIS B H Hdre
RS GEHR, UG gah d FE
fama?

(A) $F

(B) 3BT

(C) HgaT 3rE NI (UAE)

(D) wetfra

fareet =1 2018-19 Yorslt g grfde St |
Heast 2019 % ATTYR H wiEaE § gE
Prefafea # & Rew & @ e
(A) afferTrg

(B) s

(©) ¢

(D) Ffes
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Q76

SECTION-3 | GENERAL SCIENCE / ARITHMETIC | 50 QUESTIONS

If x* +— =23, and x>0, then the value
X

1
of x+— s
X

'{Ml

Q77

Q78

Q79

LM-E

(B) 2
©) 5

D) 6

Solve the following.

(cos® @=1)(cot’ @+1)+1=7
(A) -1

(B) 0

€) 1

D) 2

If*t" is the standard deviation of a, band c,
then the standard deviationofa+6,b+6
and c + 6 will be:

(A) t

B) t+6

(C) atb+c

(D) 6t

If @ and [ are the roots of

ax’ + bx + ¢=0, then one of the quadratic
equations whose roots are é and é will
be:

(A) ad +bx +¢c=0

B) bx'+ax+c=0
C)e+ax+b=0

D) e +bx+a=0

Q76

Q77

Q78

Q79

uﬁx’+x—lz=23 aﬂix}ﬂt?hx+£':ﬁ[
A T BT

@A) 1

®) 2

© 5

(D) 6

F=fefaa o &0 =¥
(cos’@—1)cot* B+ 1) +1="7
(A) -1

B) 0

(€)1

D) 2

af a, baf¥ ¢ ® AFS fawew 0 & ot
a+6,b+ 63 ¢+ 6 WHF faae= @
gr?

(A) t

(B) t+6

(C) at+b+c

(D) 6t

e e’ +bx+c=0T A o IR g &
ol gfeema Wil 3§ & o e @

&méﬂ.ﬁwﬁﬂmﬁﬁﬁmm

grm?

(A) a’ + bx +c=0
B) bx¥+ax+c=0
C)ex’+ax+b=10
D) e +bx+a=0
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Q80

Q81

Q82

Q83

LM-E

Let a be a prime and b be a composite
number such that a + b = 240.Also, the
LCM of a and b is 4199. Then a and b
respectively are:

(A) 23,217

(B) 17,233

(©) 19,221

(D) 13,227

Out of the following numbers, a terminating
decimal is:

(A)
(B)

©

Wi R= s <|w

)

Tapﬁcmﬁllaunkinl!minulm,ﬂinm
minutes and C in 54 minutes. Tap A was
opened; | minute after that, tap B was
opened; and 4 minutes after that, tap C was
opened. The time required (in minutes) to
fill the tank was:

(A) 9

® 1

©) 6

D) 8

The ratio of present ages of Reemu and Alka
is 3 : 2. 20 years ago, which of the following
CANNOT be the ratio of their ages?

(A) 17:10

(B) 8:5

(C) 7:5

D) 9:5
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Q80

Q81

Q82

Q83

A9 & o U s wem & AR b UE
g HEm e gH aE M a+ b=240%
WAR & | §9 o a 3R b AYwH
TAEdS 4199 % | @1 o R b & HEHE
A S B
(A) 23,217
®) 17,233
(C) 19,221
(D) 13,227

e deget § 4, w0 Iwea
F 27

(A)
(B)
©)

D)

Wit M= ~d|& —|w

7 A flt 23 #1 18 e o W wea
£ B TR 36 fre # aflv C, 54 fvre AR
woaT 8| 79 A @ren T, I | e
g, 79 B @ T ol 9wd 4 e
AR, 79 C @ | T B O D
fory smavas wwa (e %) fseen @
(A) 9
®) 11
(C) 6
D) 8

{9 sl srera @ adaE g B IAIE
3:2%1 20ad yeat, Prafafs f & @9
W S TG BT JAU G B HHw
{4
(A) 17:10
®) 8:5
(C) 7:5
(D) 9:5
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QB4 Ram is twice as good a workman as Rahim.

Q85

Q86

Q87

LM-E

Ram takes 6 days to complete the work,
Rahim will complete the same work in:
(A) 6

(B) 3

(C) 12

D) 9

If sina—ma:%. then sinacosa is

equal to:
L
25
16

(A)

(B)

(©

ale Rle B

D)

When the number a is increased by 20%
and then reduced by 20, we get 160. If the
number & is reduced by 20% and increased
by 20, we will get:

(A) 144

(B) 140

(C) 152

(D) 148

While selling 5 m of a cloth, profit made is
equal to the cost price of 2 m of that cloth.
The profit percentage is:

(A) 40%

(B) 30%

(C) 45%

1
(D) 335%

MAS0153
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Q84

Q85

Q86

Q87

W B wdeEr W @ ardamer |
<l 81w Rl ard @1 6 R i g
el § | v o 1 31 fva e g
@

(A) 6

(B) 3

(C) 12

(D) 9

, 3 !
afe sina-cosa ==& o sinacosa
5

1 W T EBn?
S
25
16
25
2
25
kd
16

(A)
(B)
(€)

D)

W UE Hem af 20% 3y Bl # alw
5% 7w 20 #% & wr=h 2, o &4 160 TR
Bie 8 afd wemad 20% @0 B &
3w 20 0 gfe By &, o = @ e
gr?

(A) 144

B) 140

(C) 152

(D) 148

5 m &Yl 4699 @ IRE, aftla am 9w
T D 2mD B A D TUER B B
sfota o wftvea s &4

(A) 40%

(B) 30%

(C) 45%

k.
(D) 33; Yo
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Q89

Q91

092

LM-E

What is the name of the reserach station set
up by India in Antarctica in the year 20157
(A) Dhruva

(B) Hind

(C) Sagarika

(D)) Bharati

Which of the following institutes was the first
to be established as [IT (Indian Institute of
Technology)?

(A) UT Kanpur

(B) IIT Bombay

(C) IIT Kharagpur

(D) 1T Madras

How many years of orbiting Mars planet
were completed in September 2018 by the
Mars Orbiter Mission launched by ISRO?
(A) 4years
(B) 5 years
(C) 6years
(D) 7years

In the water cycle, clouds are formed by the
process of:

(A) evaporation

(B) condensation

(C) decomposition

(D) meking

Which of the following is a sign of deficiency
of vitamin C?

(A) Bleeding gums

(B) Protruding belly

(C) Nightblindness

(D) Stomach ache

B/ETOS3
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Q88

Q89

Q90

Q91

092

a5 2015 3, e gaw sierdiean # wniid
FEEEE WA HT AW 87

(A) g

B) f&=

(C) |

(D) wrEd

Frerferftaa 8 | fra dwema & wem 1T
(A i s & sy A wi
fm T ar?

(A) UT &R

(B) NTdf

(C) NT WETYR

(D) 1T #ar

a9 (ISRO) Zarr wafta #ret afffdes
forer & weam B Ridaw 2018 7 #7| TR
# gReww e ol # g & 1E?
(A) 47d

B) 5ad

(C) 6ad

(D) 7ad

oId 9@ W, agal o Toq Frefai |
¥ fra wfmn gawy B 87

(A) T

(B) WE=H

(C) ¥T=EA

(D) TTAIE

fpaferfira A @ @ W RefE C @
A HT AT B?

(A) 7@l 9§ @ P

(B) UE 4TER W

(C) %l

(D) e # Td

SERIES-E-G




093

(094

Q95

Q96

097

LM-E

Who among the following are at higher risk
for anacmia?

(A) Old persons

(B) Children

(C) Pregnant women

(D) Animals

Which of the following animals can spread
rabies?

(A) Lizard

(B) Squirrel

(C) Pigeon

(D) Dog

Which of the following are an example of
surface water resource?

(A) Lakes

(B) Wells

(C) Oceans

(D) Tankers

Which of these is an inner planet or a
terrestrial planet in our solar system?

(A) Satum

(B) Jupiter

(C) Mars

(D) Uranus

Fuse protects an electric circuit from:

(A) overloading

(B) converting one form of energy into
other

(C) carrying current

(D) inducing current

38610153
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Q093

Q94

095

Q96

Q97

Ferfafan & @ B oifn 89 @
v e gar &7

(A) 3% =fem

(B) a=

(C) ekt wfgand

(D) IR

fFrefefaa 4 ) a9 w1 o9 W
AT gwar #?

(A) s

B) fraeh

(C) TgeN

(D) wem

Frefafea & @ &9 W was w o
HHMA & UF ISR 27

(A) =

(B) man

(C) wvw

(D) &

Fr=fafm # § &5 w e W@ iz
& UF yioRe 18 @ utfs uw &7
(A) uifs

(B) FEwfy

(C) ¥

(D) %Y TR

T, v gy ke (seifigs wfie)
@1 e FrsiferfRae 3% 9 fras) aver 82
(A) sftrmor (Sravenfe)

(B) Hull & (s WU B gEr # uftads
(C) amr gRaes

(D) aRT Iy
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Q98 Which instrument is used to detect the Q98 wfdie ¥ Rgyy & wufefy 1 e &
presence of current in a circuit? & foo fr=fefaa # 9 fem suso &
(A) Ammeter Iy b wren 87
(B) Voltmeter (A) TieEw
(C) Rheostat (B) dreedier
(D) Galvanometer (C) Rarede
(D) Tredemie
099 The three basic units of an electronic AT HUR YUTE! &1 gﬁ'mr-ﬁ
communication system are: ECaEp I aa ikl
(A) transmitter, transmission channel and (A) giedey, grafies 9=a iR R
receiver (B) Higgatey, fEiggaer sl Rdrer
(B) modulator, demodulator and repeater (C) siwiter, iy s g=phierE
(C) transmitter, noise and information (D) giadex, frwa aiiv dfggee
(D) transmitter, signal ahd modulator
Q100 The lowest temperature at which a substance Q100 Ha T4 aH e W) @18 gard 3

catches fire is called its:
(A) melting temperature
() ignition temperature
(C) boiling temperature
(D) freezing temperature

ymeal 8, 99 9 HEl W0 87
(A) TTeTI TTaHIA
(B) Woel™ qHE
(C) TS YA
(D) fRwiw o=

Q101 Chemicals are added to food for: Q101 o= % vara e gty 4 Memar o

(A) degradation g 87
(B) decomposition & (A) Frfraver (fidem)
(C) preservation (B) amged
| (D) recycling (C) HEm
(D) g
(2102 Which of the following statements is TRUE Q102 wf¥ere sl (Refew feedie) @ an
about synthetic detergents? # Feferfia 4 @ @9\ FuE ad) 87

(A) Theywork with both soft and hard (A) 7 5y 3l @R oa <F @ |
water. cacl o A

(B) They do not work with hard water. (B) ¥E HoR e # &m A8 @ 81

(C) Theywork only with hard water. (C) U8 dad HOR o # I I &)

(D) They only work with soft water. (D) U8 @ad yg A § &M Hea ¥
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Q103 Use of chemicals for therapeutic effect is ;

called:

(A) chemistry

(B) chemotherapy
(C) physiotherapy
(D) chromatography

Q104 Which of the following diseases is caused
by the deficiency of vitamin D?
(A) Rickets
(B) Scurvy
(C) Nightblindness
(D) Pellagr

Q105 What is the percentage of fat and sugar
recommended in the diet of a growing child?
(A) 7%
B) 25%
() 15%
(D) 30%

Q106 Based on the United States Department of
Agriculure (USDA) guidelines, what should
be the daily calorie intake of sedentary men
and women over 30 years of age?

(A) 1,600 102,200 calories
(B) 1,000 1to0 2,000 calories
(C) 1,000to 1,400 calories
(D) 1,600 to0 2,400 calories

Q107 Hypocobalaminaemia is caused by the
deficiency of which of the following vitamins?
(A) VitaminB12
(B) Vitamin A
(C) VitaminC
(D) VitaminK

LM-E

37

Q103 Fafei wara & fro vt & Sy
& & Prafafia 49w am @ o
Wi 87
(A) v s
(B) @
(C) fsforareyd
(D) e

Q104 faer®s D& & & Fww Pt §
q D W A gar 27
(A) Rebzw
(B) wwdl
(C) eih
(D) &

Q105 730 ¥= & foyy amew # aw ik worw 7
fasern wftwa srqeifm R o &2
(A) 7%
(B) 25%
(C) 15%
(D) 30%

Q106 wgT wou aMRa®T @ Ff fvmr (USDA)
& femfdet @ smaw gv 30 ad 9 s
@I W A WA gel o wftemi @
Tam1 o A &1 uev e B
ﬁ'lﬁ'(!?

(A) 1,600 9 2,200 Pt
(B) 1,000 % 2,000 Hed)
(C) 1,0009 1,400 D
(D) 1,600 H 2,400 B

Q107 BEYmEMARaT (Hypocobalaminaemia)
fFr=ferfian & & fow faerfm & &0 @
FHY] B &7
(A) feefmBI2
(B) faefimaA
(C) Rafmc
(D) faerfim K
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Q108

Q109

Q110

QIll

Q112

LM-E

Which of the following diseases is caused by
the deficiency of vitamin B3 (niacin)?

(A) Rickets

(B) Beriberi

(C) Nightblindness

(D) Pellagra

Which of the following allergens causes hay
fover?

(A) Seafood

(B) Penicillin

(C) Pollen

(D) Nuis

Which among the following controls the
beating of the heart and respiratory
movements?

(A) Medullaoblongata

(B) Spinal cord

(C) Spinal nerves

(D) Pituitary gland

Which is the basic structural and functional
unit of the nervous system?

(A) Neuron

(B) Nephron

(C) Cerebrum

(D) Cerebellum

Select the non-metal added to swimming
pools to kill germs.

(A) Oxygen

(B) lodine

(C) Chlorine

(D) Nitrogen

5 L0y SEE

i3

Ql08

freifis B3 (Franf=) & &6 | F=ferfaa
H | @19 W\ AT wen g

(A) Raew

(B) a9raf

(C) el

(D) YT

Q109 fFr=fafaa # & few wegsls (Tash) @

SR YIS TG Bl 87

(A) TR e

B) uffafem

(C) [

(D) 3@ve, 915/ (Nuts) §e01fs

Q110 F=fafaa 3§ 9 9 W gga & uassq

Qi

Qll2

afi yawm @1 FafEa w87
(A) Agen sifeArren

(B) Wevoy

(C) %% dfem

(D) g ufey

fr=farftra @ & @4 0 dfFa T3 @ 5@
AT 3R Pt g 87

(A)

(B) W

(C) dfm

(D) Hfdem

el & A @ fou Rafi ga 4§
S W At -] #1960 87

(A) aifarirar

(B) ¥mTE=

(C) #F=1¥14

(D) AFEA
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Q113 Solve the following Q113 Fr=ifafaa & sa &4 |
10-[5-(5+10)]+5 o 10-[5-(5+10)]+5 ok |
(-5+10)=(5-10)+5 ~ ° (-5+10)-(5-10)+5
(A) | (A) 1
(B) 2 (B) 2
(C) 5 ) s
(D) 10 (D) 10

Q114 Solvethe following. Q114 Fre=ifafm & ga a4
09 0y
(A) | (A) 1
(B) 1.1 3 (B) 1.1
(C) 0.1 f (C) 0.1
(D) 0.01 = (D) 0.01

Q115 The sum of three consecutive odd numbers Q115 wara dF v deall &1 am g1

15 36 more than the first of these numbers. werst # | vedl v @ qen 7 36
What is the middle number? s &) ey wear w=n §7

(A) 15 (A) 15

(B) 17 (B) 17

(C) 19 (C) 19

(D) 21 (D) 21

Q116 The average of ten numbers is 6. If each Ql16 TH w=IRll &1 aftaa 6 &) o uwas

number is multiplied by 12, then the average He #1129 on fem o &
of the new set of numbers will be: HEaR & Ay e & aitea aar gem?
(A) 20 (A) 20
(B) 28 (B) 28
(C) 36 (C) 36
D) 72 D) 72
Q117 Ifﬁ:z-“-?,thcnlhl:tn!ueuf.tis: Q117 uf2 '{]i]'%=%i I, af x ¥ " 397
(A) 00144 e
(B) 0.144 (A) 0.0144
(C) 1.44 (B) 0.144
D) 144 (C) 1.44
(D) 144
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Qlis

Q119

The salaries of Arjun, Vikram and Vijay are
inthe ratio 2 : 3 : 5. If increments of 15%,
10% and 20% are allowed respectively in
their salaries, then what will be the new ratio
of their salaries?

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Express the following as a decimal.
0.001%

(A) 1

(B) 0.001

(C) 0.0001

(D) 0.00001

Q120 A and B together can complete a piece of

QI21

LM-E

work in 6 days. If A alone can complete the
same work in 10 days, then in how many
days can B alone complete that work?

(A) 12days

(B) 13days

(C) 14days

(D) 15days

Monish can cover a certain distance in 1 hour
24 minutes by covering two-third of the
distance at 4 km/h and the rest at 5 km/h.
The total distance is:

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km

Q118 3, fmww 3l oy & &0 2:3:59

o # &) gl 9 Agw A FAm
15%, 10% 3R 20% @ @@ gha @
il € oRh 2, @ 9 A de @
IR @ B

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

%
g Q119 Fr=fafua 1 swmea § 2w #)

40

0.001%

(A) 1

B) 0.001
(C) 0.0001
(D) 0.00001

Q120 A 3R B g fh om &1 6 21 4

o Y W 8| A A sben S @
Y 10 4= % g1 & wawa &, o B A
o0 oM & o = 9 g v wwm
27

A) 12f&3

(B) 13f&=

(C) 14R=

D) 15%=

Q121 Wfe vw fiftaa g8 @ <-fe wm

®1 4 km/h 3R 99 917 @Y 5 ke/h B TR
¥ | 62 24 e ¥ a9 W WA 8
T s |

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km
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Q122

Q123

Q124

jobin 2, 3 and 6 days respectively, How

A man, a woman and a boy can complete a

many boys must assist | man and | woman

IETIASE

to complete the job in half a day?
(A) 5
(B) 6
(C) 7
(D) 10

The radii of two right circular cylinders A and
B are in the ratio 5 : 2 and their heights are in
the ratio 7 : 5. What is the ratio of the curved
surface areas of A and B?

(A) 2:7

(B) 7:2

(€)

(D)

[ (5 S

3

L

« "y
-

Iftoday is Saturday, after 71 days, it will be
(A) Monday

(B) Friday

(C) Saturday

(D) Sunday

Q125 Ina AABC,AB=6.cmand AD is the angle

LM-E

bisector of # A. IfBD:DC =3: 2, then
AC will be equal to:

(A) lem

(B) 1.5cm

(C) 2em

(D) 4ecm

41

0122

Q123

Q125

U&H g4, TS AT 3R vs g9 el
BT B B 2,3 A 6 AT A g v
Wt & | B B AW A @ D
o 1 s aiv | wigen & vema @
fi A dSH o wemo wige?

 —

ey fabe
(A) 5
(B) 6
(C) 7

(D) 10

A1 &7 I A (right circular cylinders)
AR B i 5:29 s ¥ ol
Tl Surgdl 7:5% s A &) Al
B® % Y & &% (curved surface
areas) &1 3F{URT ST Y |

(A) 2:7

(B) 7:2

(C) 2:5
(D) 5:2

ufe I AR g, @ 71 Re @ e T
BITT?

(A) HWar

(B) mam

(C) oiFar

(D) faar

AABCH AB=6cm 3R s A® o
#HigHo® (angle bisector) AD & | Tf¥
BD:DC=3:2% ©f AC® w9 &I
BIT?

(A) lcm

(B) 1.5cm
(C) 2cm
(D) 4em
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Q127

Q128

Q129

LM-E

SECTION-4 | GENERAL HINDI | 25 QUESTIONS

Frfafaa 4 g 3@ o= @ 27

(A) # anyat g9 A T g

(B) %9 ¥ @& FEa 4 5 & g
A B

(©) # arh I & Wl & fav
aaw §

(D) U v ad Y dwH § R § )

a4 ¥, fave fe=r, o8 9o anfR
ve-goit & dfa e fAem-faes =
war f&ar smem?

(A) ,

(B) -

() :

D) ;

R Ry IR @ el B A A

TE WSl o 8 99 9EYr |

(A) 39 U w1 B = WEEd! g

(B) 3@ T AM 1 = 9 N T
ur B T A o

(C) e e = Rafem 7 g

(D) HTEHF TE TSI = A DI Hhe
|

@ &1 AT AR AITHW — Al

o1 w8 I g

(A) T & FTHY A EF

(B) 1 & faeg M &

(©) @ &1

(D) w4 5o v foran

42

Q130

Q131

Q132

QI33

e 3R AT B B 6 g w8
9 87

(A) el — EERe 7

(B) @aad — faemaa

(C) WHl — g=IEa

(D) #em — feEmaen

gl o 3l ARRY A wela’ e
AT 87

(A) g gof fb

(B) wwuw Wi e

(C) Wiy gReEw

(D) Vrige A

¥ 2016 31 Wit AHEA TR &4
TR & e e

(A) ggan

(B) vhwd® wWE

(C) ey Ay

(D) ¥ et

wa @ o 2= ok ol Sgam
gt | 7w Wi wfuE & e s
¥ foran war 87

(A) 343

(B) 344

(C) 345

(D) 347
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Fr=fafes 5@ & od v we
(e W 134 - 136) & gaw §)

wite=1f & wEl § geseal @
W 3 AEyYl § | $99 gaNT Wit
# e 1 g o sy B
8| qWEeg g & gfoee @
OIET—GTTaT 9T 81 ¥ # 49 W
G 1 1 A L B 1
ue i # | gwrTer AR @ fog e
¥ awg 1 & | o & anferw @ ama
% @ PR W] @1 |UE Y ®
) vea daey, fguen v e
§1 GUEl @ W@ wWiE B o) 58
yfofe, Rgaee=l & sga el
QeI A BRI < | RO @ AnfAR
W qd qETS! B HIE BT A DY
T8 W 4 7 ol | S HRYT
fafy @ germma 9 fore Haft &
¢ 9o 37 R -l @ W
! da # T o el off | TR @
QT HER WY A HYA G A8
Y@l ¥ WEEe W e el @
vy e gd Rufd @) 99 wea
wifd g Rem <o 9 ge-o-gHs
Rgargah d@ a=g 3w AR
e A

gudert ey @ Sfa Wids @ &
e &7

(A) W ST @ JRI@TEd

(B) g &1 gfoerd

(C) YFi@l &1 WIS
(D) gEFad 3R ARG

Q135

1908185
e
[=2

Q137

Rt ¥ Ywifea iy A Sfaa amen
wr grfi?

(A) wftea & g=fy @ wad wifte
eyl W g #
qRIIed WG @ wiiiE 3 SR
@ ¥ ¥ qEaedl @ SR e,
wRE Wit gy Rua 2wt |
gs-@-gs Rgareedt &@ amd
BB AN AT HYT & | A IR B
yf—va & s #)

(C) e & YadTerd HH ¥Y # o
a8 T 9
qeuidel @ SR | qd qwe!
®1 HAE T IS DI OE
Y AT A o | WA A HER A
qRIPI D HIE B Aeod )

(B)

(D)

wifgd @ I & wed A "y
wrE a7 87

(A) 2y

(B) ureig

(C) Jw&@Iey

(D) Feviera

frafaftm # & e siofa Frgfi,
gigdt @ Wil oo gegfg sk A
qaan @ wreh &

(A) T=

(B) ulu=

(C) v Refi

(D) wratera amdw




Q138

Q139

Q140

Q141

Q142

frefafaa 4 4 fFes @ N
R IR ST WA el #§ Wit
wvatd Fram, s, sfer ahv Pyl
W B W § e 27

(A) Trafaa e

(B) wfRgE

(C) I+

(D) ufRu=

fraferfiaa § § @ w1 g @R T8
g7

(A) §

B) T

C) &

(D) 3

fFreferfaa # 9 @ ar avf <o Tl 27
(A) @
(B) <
(C) &
(D) 4

wavr % e Suwe F1 v gan 87

(A) HHq
B) &1
(C) =
M) g

Prfrfae 4 9 v e & afdm v
@1 g gon 87

(A) =fiw

(B) MEa

(C) e

(D) e

Q143

Q144

Q145

Q146

Q147

Conlh A U
(A) ured
(B) raToy
(C) wigT
(D) few

AW W agd w9 @1 g
(A) v
B) 3’
(C) e
(D) ai

e forn gon ga' @ fog Sugw @
g a1 EIm?

(A) T

(B) @

(C) awlee

(D) &uill

W # e 6 wen ool
g &1 - Sfm = W Re W
4Ry |

(A) ERI

(B) ¥

(C) foma

(D) e

Fwe faen qn 5o o B — T A
TS W o w87

(A) o1&

®) fen

(C) @A

D) T©




Q148 frw weg &t ool wa &7
(A) J=
(B) wale
| (C) wafd
| (D) o

Q149 ™ @rar 8011 | — % &1 &1 I
| &
(A) wfe aemE
(B) Wi
' (C) wie wiaw
(D) |m= Wi

k-

Q150 fFr=fafaa # ¥ oW w1 WA= @
JeEY 7
(A) 7 qws udl |
B) gwF 9 wrh &)
. (C) @ @ran wmen &
(D) &9 ¥ =en 7l wen|
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ROUGH WORK /%% &1 @ ferg
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Read the following Instructions carcfully :

Frafafaa HEel & e /€ g

Qut of the four alternatives for each guestion, only

one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked s not liable
to be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet, Do not write your Roll No. anywhere
clse except in the specified space in the Answer Sheet
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in

Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance

Sheet.

. Each candidate must show on demand his / her Admit

Card to the Invigilator

No candidate, withoul special permission of the Center
Superintendent or Invigilator, should leave his / her
seal.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet 1o the
Invigilator on duty. Cases where a candidute has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case

Use of Pencil/Electronic/Manual Calculator is

prohibited.

. The candidates are governed by all Rules and

Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and

Regulations of the Commission

10. After Examination is over, candidate has to return his

Answer Sheel o invigiloor, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed to take Candidate's copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the
Invigilator after the exam.

LOLEE

o5

II’-J

s aE & v Ry 1 ar s 4 9
ST @ T 3l A, AR, SRR 0SS W
el U el B # W T8 Bl a1 ulge
U9 | W | Us aR IR dfda v o 3
1% I T T8 O " £
yasrel #fifas & & 9o v T 9
AT U4 99 W @18 3 e |1 @l |
qRlETel ST i T gEe 3 Paife
& wfafRes s 9 o

Y
HH

. W gRa®T U4 TR UAS &1 SAEYdE

UEIIL| -:h-" &#ih e 0 'IHE‘PIF:T IT {?EEIH
e e J T 31 Be IO TEd ghm
QT U0 ST UASG IUAE T8 Sl
T |

ToeT gitre A @) i adan gRae @8
@ whemell wd ode 9 ouRefy gme A

fored |

M1 G R G T 4 T S R e

YT UAY UHS S |
e A1 F ST 1 R oy @
fasn wEd el v s T B

. AT T I B AU IR EF R

fer gdemeft s wm A€ e afe
fHa gdemedl 5 oufefy v W ewER
81 fhu o g8 wEr SoT @S9 9O
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